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Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry ¢twomarks. A//questions of Paper-I1I will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(11) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.

10.

12.

Tereneatarst wevaren e
Wﬁwﬁmwmmmmaﬁmm
T ST fEerean Swafsreh=n s e fegm.

TR JEAIAhT 75 TEUAET T M. Teish T S 0

3T, A IYTIFTehciiet Wel Tee WS (a0 SIfam ST, Hes 79

B 2 o= Squf STeATHeR AR STEia ST

e & FeareR faeneaten yerafen et e, geard=a 5

foiermed STTIur HER YeTU>TehT IHSH TIeftel STl STavd T

TR

() AR SHSUAEIE! TR Ahat dEeil i Suer.
e FHeie foran Hia Seeci! FeTateR feeme T3

() O YeaTeR g SheaTaHIu! YYTatrehel TRl Uss
TS WU Tehelcet UeRUT U9 el ST USHTest
IS Ut mﬁsﬂmﬁmmﬁﬁ}ww
T ST TehaT 3a¥ AT STHTTCH ST WoUTSIehT
geardren 5 fafers wHasehRe wa 5T gadl
YYTUTGRT AITEA TATEl, @A Youbent aged
THEBUTR T o Aozt ATea MHeuTR AT 2l haan

(i)  FOATHT T gSaregd dfeedaiE JEAdTRaR
31.TH. ST STk e fergra.

T TS (A), (B), (C) 3T (D) 37eh =R forehed S feeft

. TS A I ThMAT el S AeATIaT 3esehaol

e/ Feal L.

T, : SR (C) T AT SW A T

SR ST 3. TH. ST, mm@ﬁwmwﬁﬁmwaﬁ%ﬁ
e, ST SHHTeh, TR R [hall 3Tesel Yt mﬂaﬁmﬁé%
WWW&WWWWW%@W
S e ferneaten Ta ST v A,




JAN - 15318/III—A



JAN - 15318/III—A

POLITICAL SCIENCE
Paper III

TSHIMEH
quusTeRt 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt A// questions.

oAl : A YA THY UeEal (75) dgudEl WA fool ofRd. Yosh WA & (2)
O STed. W WX el

1.  According to the UNDP’s Human | 1. 9q&F Usei=al fa&md &TEAHATAT

Development Report of 1994, which
e faRrEERd 1994 =41 SEATATTER

one of the following is incorrectly

stated as an issue falls within the AT [T TeId THIO BIS

scope of human security.

IERUR A& ST Fehial TAE ivrar ?

(A) Economic security, Food

security

(A) 3Tfefer g, o7 e
(B) Health security, Environmental

security (B) STFT YI&T, Tieryl gRa

(C) Personal security, Community

(C) =AfeRTId GLat, THer= e

security

(D) Political security, Energy (D) TSI TRET, Il gaan

security

3 [P.T.O.



What is the ultimate goal of state
according to the offensive realism

propounded by Mearsheimer ?

(A) Power

(B) Hegemony

(C) Authority

(D) Peace

Who was/is the UN Secretary
General took the initiative to
conflict prevention and move the UN
from a culture of reactions to a

culture of prevention ?

(A) Ban Ki Moon

(B) Butros Butros Ghali

(C) Kofi Annan

(D) Kurt Waldheim
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TR 1 faaREdH Higdedn 3TshHh

EARIIAR e Afad Igfase

HI0 ?
(A) &=
(B) 94
(C) e
(D) ST

TTATAdRT FHFd AST=AT HI0TC

TR =a o RN J@hR =3

FIFRSI YidehRIcHs  HEhd I
JfaeacHe Thdishe A 7

(A) & &

(B) =4 gid wfef!

(C) =l =T

(D) 2 deSeREd




You have been asked to design a
comprehensive program to combat
corruption in bureaucracy. Which of
the following measures would you

adopt ?

(a) Reform of Indian Penal Code

(b) Modification of the Prevention

of Corruption Act.

(00 Improvement in inter-

ministerial coordination

(d) Reduction in protection given

by Art. 311 of the Constitution

Codes

(A) (a) and (d)

(B) (b) and (¢

(C) (o) and (@)

D) (a), (b) and (d)
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ARl YR GYauarEel T

GAHHIAYTR ShTHshH SRV STTIeTC]

TG 3T TR, T3] Eeiierdeh]

Rl SUFASH TRl RN ?
(2) WA < faummE garon
(b)) Y=FER Yfags: HEcd[ aed

(0 ITEAT= WM T GERo

(d) TTEET=a %™ 311 1 feden

TG HYTd

Hehdlah :

(A) (a) 3o (d)

(B) (b) 3 (o)

(C) (o) 3T (d)

(D) (a), (b) 3701 (d)
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Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : The Prime
Minister’s Office
maintains liaison
with the
President and

Governors.

Reason (R) : The Prime
Minister’s Office
acts as the think
tank of the Prime

Minister.

In the context of the above which

one of the following is correct ?
Codes :
(A) (A) is true but (R) is false.

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)

(C) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

(D) Both (A) and (R) are false
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et g faum kel smed. & faum

(A) W TR &R (R) :

faam (A) :  Tawee wEieE T
g ISIUTA AT
g% TWUITE HTH
FH.

HRUT (R) : TdUEndid w1aiad

o o

JaueHr=a adq o=

FIR IS U

HE .

T g faumren Sewia @rel foen
AR I I WL

Hehdlh
(A) (A) SRR 38 W (R) I T

(B) (A) 371 (R) Sl s&R 3T 901
(R) ® (A) 9 I WSO @

(C) (A) 3Tfor (R) Tl sRIeR T8 (0T
(R) § (A) 9 Irg SO0 318

(D) (A) 2o (R) S = TR




What are the sources of
Development Administration ?

(A) Globalization, consumerism,
international trade

(B) Fundamental Rights,
fundamental duties, secularism

(C) Economic development, Political
awarness, democracy

(D) Directive principles, socio-
economic justice, welfarism

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(a) Political Affairs Committee
(b) Estimates Committee
(o0 National Development Council
(d) Inter-state Council

List II
(1) Administrative reforms
(2) Decisions regarding security
(3) Cooperative federalism

(4) Representation to Chief
Ministers

Codes :

(a b (© (d
A @ S @2 @
B 3 1 @ @
< 2 & 1 @
D 2 O @ B
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forehTaT=a YA 9id Shivd 2

(A) SITfAhIeRTol, TiTesalg, STAISeY
C2IRIES

(B) HaYd TR, HAYd Hhaed, HH-
g

(C) snf¥fer foepm, TSI STTEehd,

GICHIE]
(D) WAFeeie dad, THIfSTeh-STfeh =1,

cITeheh TRl gIeeehld

ETelt feeiean Hehd T AT & AGT
I 37for et 11 =1 A Siedn Seod ¢

et 1
(a) USThY HAagR HiHd!
(b) 3feTs Wi
(0 T<E faswm IReg
(d) AR-TT TS
It 11
(1) JSTE&RE RN
(2) Hfaraar dewia o
(3) TERHRERISRR U
(4) TEATTen gfaffaE
Gehdieh :

(@ b (© (@
A) @ 3 @ @
B) G 1 @ (@)
© 2 B 1O @
M 2 1 @ 3
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Which two of the following
statements are linked with

administrative leadership ?

(a) Influencing people to strive

willingly for mutual objectives.

(b) Mobilizing people to widen

social base.

(o0 Encouraging people for

participation

(d) Rewarding people for

organizational efficiency.

Codes :

(A) (a) (¢ and (d

(B) (b) and (d)

(C) (a), (b) and (d

D) (D), (¢) and (d)
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10.

What is corporate governance ?

(a) It is a government by public

corporations.

(b) It is a governance protecting

the interests of the stakeholders.

(o0 It is a governance protecting

ethical and moral values.
(d) International governance.
Codes :
(A) (a) and (d)
(B) (b) and (¢
(C) (¢) and (d
(D) (a) and (b)

Who of the following advocated the
dependency theory of development

administration ?

(A) Gunder Frank
(B) Frank Marini
(C) Chester Barnard

(D) MacGregor

10.
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A HTTHICHS IS IMHTHARN
(Corporate governance) Ul U
EqE

N o

(a) <k T

(b) <nwieaf=a] feqdsar (&0 HOM
RIRECEEIL

(¢ YTHITOTRYUN STfoT Sfdes  qearan

SRR HIOR ITHTHIRR.

T A% ITEA .

(d) diid{{lb;"lq IMHATABR.

Hehdich :

(A) (a) 3o (d)

(B) (b) 3 (o)

(C) (o =fo1 (@

(D) (a) T (b)

foeR T TS SeHid qac ST
fagum=1 @efietisht vl ArEen 2

(A) TS Tk
(B) Weh |G
(C) I IH e

(D) HHUTR
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11.

12.

Which of the following critera is
considered while creating a Nagar

Panchayat ?
(A)

the degree of urbanization

(B) proportion of employment in

non-agricultural activities

the

participation

(C) degree of people’s

(D)

infrastructure facilities

Choose the incorrect statement of the

following :

(A) The scope of Judicial Review in
Canada was expanded with
Canadian Charter of rights and
freedom in 1982

(B) In India Articles 131-136 of the
Constitution have vested in the
Supreme Court the powers of

Judicial Review

(C) In US, dJudicial Review was

asserted for the first time in

1803 in Marbury Vs. Medison

case

(D) In Switzerland Supreme Court
is empowered to make Judicial

Review of Federal Law

11.
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o <.
[

TRO9Ed f9i0T HeaMT @reitardshl
S o fa=r &enm Sl 2
(A) IR0 JHTOT

(B) ToReIdl Saa@mardiel USRI JHTOT
(C) AehT=a1 Feur= JHI0T

(D) sTaia glaen

12. Weaden! gehial fau™ sfeen :

(A) HISHLTA AT AR

T 1982 AT HASaT e

3 Tged o~ fired A1 Hread
refaodrd Seit

(B) YRATd TSTeeA=a1 hel™ 131-136

ER Haled <RI ATy

oe N

qAfScliehTal ek sglal Siell 3118

3R 1803 =1 A faeg HErH
TETATHE

(®)

1 TATAATA

gafdadt®arar ggw  afecanal

S [AULId HlAl

D) framdensd T g w1Ecar=

RIRINRIEERCICIIEE M TV

YRR T A=AATAT 3T
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13.

14.

How the President of America is

elected ?
(A) Directly by people

(B) Citizens elect the members of
electoral college, these electors
then cast direct votes for the

President

(C) The US Congress elects the

President of America

(D) The the

President of America

Senators elect

Choose the incorrect statement :

(A) Executive power in Switzerland
held by a

consisting of 7 members

s committee

(B) Switzerland’s constitution of

1848 provided for a Federal

Council

(C) Each of the ministers in Federal
Council has equal power and is

elected by Parliament

(D) The Swiss Constitution expects
that the executive decisions

should be taken by the President

13.

14.
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(A) CArhiehed JAIol

(B) TrTRehihe Usgeaa=n fafas
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faes Smad

(D) Torccssl Ts&e 39 W i
EaRETRE L RIS I E reu I G|
SICL|
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15.

16.

Choose the incorrect sentence :

(A) Indian President can declare
state emergency in a state

through Article 356

(B) Article 356 gives wider powers
to the central government to

assert its authority over a state

(C) With Article 356 the powers of
the legislature of the state shall
be exercised by or under the

authority of the Parliament

(D) In the Golaknath case the
Supreme Court discussed at
length the provisions regarding

Article 356

In which state the upper house of

the legislature, gets equal

representation from federating

units ?
(A) India
(B) USA
(C) UK

(D) None of the above

15.

16.
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TeAeden! Ho faam =g R ?

(A) YR T o™ 356 T
TehSATd  SUETI SfeR &%

RMehdld

HeTH 356 R g TXEHRA TSATaX
ST AT TEAId oIS

ek SRR UTed Bidrd

(B)

(C) e 356 TR TATH HIACHESHE

IRAT STl

AR TEedTd Faied A ATAd
3561 ShoAHEe T == shedl

Sl

(D)

chUlcdl  LIvdld GIOIQGH‘SOOIT;CII af{ss

HIFE Ycdsh Todren o glafafee
fHesd 2

(A) ¥rd

(B) TaReh

(C) Fmaee fohen

(a)

(D) IUAYR! HIVRT gl
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17.

Find the wrongly mentioned
member of the Chicago-Michigan

tradition of system theory in

17.
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SRS TR Heree fagiaren

TeTeRT-THei WA 0T Tes

Tehial AR d I
international relations :
(A) Tee AR
(A) Harold Laski
(B) sfArdet YO
(B) Anatoli Raport
1 e (C) =k faR
(C) David Singer
(D) Morton Kaplan (D)
18. Which of the following initiated | 18. Teierient SHMER T R0 8 Hed1
the idea of arms control for the first wor Tieet At ?
time ?
(A) B waar i (1899)
(A) Hague Peace Conference (1899)
(B) Geneva Protocol of 1925 (B) fSesr geft (1925)
(C) 14 Points of Woodrow Wilson )
(C) TSI faeda ==t 14 we® (1919)
(1919)
(D) Four Powers Declaration of 1945 (D) ¥R YRS ST (1945)
13 [P.T.O.



19. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

The 17th NAM

Summit in

Assertion (A) :

Venezuela was
attended by

India’s Vice-
President Hamid
Ansari.

Reason (R) : In the post-cold
war world NAM
is expected to
focus on core
issues of global

concern.

In the context of the above two
statements, which of the following

is correct ?

Codes :

(A) (A) is true, (R) is false
(B) (A) is false, (R) is true

(C) Both (A) (R)
individually true, and (R) is the

and are

correct explanation of (A)

(D) Both (A) (R)
individually true, but (R) is not

and are

the correct explanation of (A)
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19. @l 4 faum oo oRd. T faum

(A) smfoT TR FRU (R) :

faum (A) : =Aguen Jedfted 175
TferRrse. ¥R FHe
ORI SWSTd! gHIg
SR AT 91T S,
®RUT (R) : ¥AGGITN ST

AR FERAGR Ay
STIfass GHEATI A8
s wE, R Ta
AR,

o SF faumren Teuid Teliciieh! Shivwd]
g e I ?

Hehdieh :

(A) (A) ST 3R I97 (R) IF 3R
(B) (A) & 3TE, 90 (R) SR TR

(C) B (A) 3Tfor (R) Tod=rqul sisi
Fed o (R) € (A) & 7™
TR 3R

(D) ST (A) 3101 (R) Wasul sisR
MR, T (R) € (A) = Ay
TSR0 TR
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20. India’s claim for permanent seat in

the UN Security Council is justified

for the following reasons :

() India has successfully

conducted nuclear explosions.

(i7) India has never attacked any

country.

(i11) Indian economy is growing fast.

(iv) India has achieved greater
diplomatic clout among third

world countries.

Choose the correct answer from the

following codes :

(A) All are correct

(B) (1), (i) and (i71)) are correct

(C) (iin and (iv) are correct

(D) (1), (1) and (iv) are correct
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20. HYHR USI=AT AT URERd L

TeEaEid RArEl TET |l

IR Fudg g

(1) TRAH RS ST Shedl Sed.

(7)) MRAM HEE R SN STHHT

el T

(ff) R A== FUeaH 916 8
3R,

(7v) Taa==n STTdier SeHey YRAM S

qSiHfdeh o W el 2TR.
Thela qAEmgE 9rg W) Haer
(A) ¥ T SR 3Ted
(B) (2), (d) 0 (z77) ST AT
(C) (i) 3Tfor (4v) SR 3T

(D) (1), (ziD) 30T (fv) SR 3T

15
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21.

22.

Which attribute of ‘Power’ is

Incorrectly stated ?

(A) Capacity to influence

(B) Embodiment of reason

(C) Based on force

(D) Not backed by law

Who among the following has
defined political development as
“increased differentiation and
specialization of political structure
and increased secularisation of

political culture”.

(A) Samuel P. Huntington

(B) David Easton

(C) Gabriel A. Almond and G.B.

Powell

(D) Alfred Diamont

21.

22.
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AT ARTEITEed SRV SISl STEREyur
Sogeledl 31 2
(A) 99E IEUAET &HA
GYREEENIGH

(C) Wegi=l 3TMER

(D) HEIT UlfesAr= 314

“ISTR T SEATE SR fafa=ien

arifor favisiieReor g0 Smfor Teiehia

Trpd Uehiwo A0 =S TR

T’ Rt ST foerma=l same

EciteTdeht ShIoTedT foraerd™ shail 3T ?

(A) T=petd . gfered

(B) efws &=

(C) Ufsuar e enfor Sl oiad

(D) 3TEhe SIHE
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23. Examine the following statements | 23. YRdr=n nfvees sRoUnfas=n Eeid

about India’s Nuclear Policy and U TR % e T faum

mark the incorrect one :

(A) India considers Nuclear Non-

(A) YRATAT AUGE JHREE!  hIICT
Proliferation Treaty (NPT) as
AR Al

discriminatory treaty

(B) India is in favour of both (B) WRA STUa&AT=l 39T SAIfUr sfreat

vertical and horizontal nuclear TR h{0ATA] oS 3R

weapon proliferation

(C) Hul 31fverh 1 :3TEleRLouTen wRaren
(C) India is for total nuclear
ifgen 2R

disarmament

(D) <faqur ST STvesa el R
(D) India is against declaring South

oo

qifsa wxvarg aRarer fauy

Asia as a Nuclear Weapon Free

Zone e

17 [P.T.O.



24. Select from the following statements

the main theme of the 1971 UN
Declaration on Indian Ocean as a

Zone of Peace. Use the codes :

() To eliminate the regional and

extra regional power presence

(i1) To eliminate the great power
presence in the context of great

power rivalry

(iz1) To make the region a Zone of

Peace

(iv) To declare the region as a

Nuclear Weapon Free Zone.
Codes :
(A) (1), (1), (112), (1v)
(B) (11, (i11) only
(C) (i), (1v) only

(D) (1), (1) and (7i1) only

JAN - 15318/III—A

24. 1971 =01 T&t HETR € Siiadr & =

fSTa ®IOM=AT WIFT  ASSTAT

SR AT Al fasa @i

fauMmYT Sehayei=an ER e

(1) TRy 3Nt yeTETe T At
T O

(7)) o] T Geuie Sewid Tered

IS Oud A T R
(i) Fafd & IMAA & H

(1v) FEfgd & STTaETE &5 WA
ClEEECTY|

Hehdiah :

A) (), (1), (111), (1v)
(B) ek (i), (i11)
(C) &K (i11), (iv)

(D) ek (4), (1) AT (4fd)
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25. Choose the correct statement about

‘security dilemma’ from the

following. Use codes :

() An important paradox inherent

in the state system.

(i7) The existence of states is to
provide security of its citizens

by maintaining armed forces.

(7i1) The existence of armed forces
threatens the very security, they

are expected to maintain.

(i7v) There is no escape from the
international security dilemma
because there is no possibility

forming a world government.
Codes :

(A) (1), (i1, (ii1) are correct and (1v)

is incorrect
(B) (1), (i1, (ir) and (1v) are correct

(C) (1), (in) are correct and (i11), (1v)
are incorrect
(D) (1), (10, (1v) are correct and (i11)

is incorrect
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25. ‘grA=| 9=’ A1 Hedldia werd

faummya e faumrt fas =3 ¢

(1) TSFFTEAAA AMYT HAgcard
forenyr.
(i) TTSh{l SATSAT MR ANTRERT TR

FHLMEST T AT

(7i7) ST G ersehdl et e

ame faama e i@ ashd

TAThgA ikl fafor e .

(v) SO FI& YIgd G
Hezel T AR RO S T
e et Sl SR TR

Hehdich :

(A) (1), (72), (i) ST 3T, (iv) b
e

B) (1), (1), (zi7) 3 (v) TS AR

(C) (2), (i) S 3T I (777), (iv) Ieh
3Ted

D) (1), (D), (iv) SSR SARA T (77) ek
3T
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26. Compare List I (Theory) and List IT | 26. @<t 1 #efiar fagemar=t =t 11 #efia
(Scholars) and select the correct foaREdaer I el HehdTshT=
codes : e Soadl

List I (Theory) RICU |
(a) Liberalism (a) SERHATEE
(b) Realism (b) TR
(0 Critical (¢ fafewem
(d) Dependency (d) TUaasl

List II (Scholars) Tt 11
(1) Immanuel Kant (1) sHYA Fle
(2) Kautilya (2) wifec
(3) Immanuel Wallenstein (3) THIS AL
(4) Jurgen Habermass (4) WA A
Codes : Hehdieh :

(a b (© (d (@ b (O (d
A1 @ 3 @ A1 @ 3 @
B @ B @ @ B @ B @ @
© @1 @ @ O O @ @ B
M O @ &) @ M O @ &) @
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27. Which of the following years was | 97 @refieie! HUM a8 RN S-T9MET
lebrated by Indi th . an
celebrate y India as e i e A A
‘E-governance year ?
(A) 2001
(A) 2001
(B) 2002
(B) 2002
(C) 2003
(C) 2003
D) 2004 (D) 2004
28. Who wrote the book entitled | 28. ‘S®cUH FSHHIRIT FHE 1<
“Development Administration— Yteorm! o1 ISR T Foh fefeer ?
Concept and Problems” ?
(A) 3foesit
(A) Appleby
(B) Ta. 2l =W
(B) L.D. White
(C) foredrsit
(C) Willobi
(D) Swerdlow (D) @Ea
21 [P.T.O.



29.

30.

Sarkaria Commission submitted its

report on

(A) 27th October, 1987

(B) 26th April, 1966

(C) 24th November, 1972

(D) 20th May, 1981

Which Article of the Indian

Constitution describes India as a

‘Union of States’.

(A) Article 11

(B) Article 4

(C) Article 13

(D) Article 1

29.

30.

JAN - 15318/III—A

GIHTIAT ST ATIAT AT

(A) 27 STERER, 1987

(B) 26 WA, 1966

(C) 24 Ta’, 1972

(D) 20 #H, 1981

YA TSTEeTd hivd hodd 9 8

T 99 SR oY 9uie Wi ?

(A) hetH 1

(B) <hetH 4

(C) <hetH 13

(D) hetH 1
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31. Who is the Prime Minister of | 31. W-HRY UaU&H 10 3Aed ?
M ? o
yanmar (A) 3T §H g hi
(A) Owang San Su Ki
(B) o 99
(B) Thiyen Sen
- (C) T =t
(C) Khin Ki
(D) Ne Win D) 7 &
32. Which is the most important | 32. FI®TEA STIdeh TSTHROMTET Hald
element of current global politics ? HEcelTel B2 ShIUl AR ?
(A) Technical (A) IR
(B) Economical (B) Tl
(C) Political (C) TSI
(D) Military (D) TRA
33. According to Huntington which of | 33. &Ted Jr=a Hd Wciicidsh! iU <30
the following countries can be ATHRMEIRLOT=AT qH=IT Ared a5
considered as coming under the third SR 2
wave of democratization ?
(A) SUE STfoT ST
(A) Japan and Germany
B) WRd MUl s&mEd
(B) India and Israel B
(C) Britain, France and USA (©) ’ EEERN
(D) Southern and Eastern Europe (D) =fagor emfor T’f ﬂfﬂ
23 [P.T.O.



34. Which of the following pairs are

35.

correctly matched ?
(a) Samuel Huntington
(b) Mikhail Gorbachev
(00 Henry Kissinger
(1) Clash of civilization
(2) Perestroika and Glasnost
(3) Detente
Codes :

(A) (1) and (2)

(B) (1) and (3)

(C) (2) and (3)

(D) (1), (2) and (3)

Who among the following is
the pioneer of the theory of neo-

realism ?

(A) Kenneth Waltz
(B) Hans Morgenthau
(C) Barry Buzan

(D) Raul Prebisch

JAN - 15318/III—A

34. WTATATHT FHIUTIT SiedT ddidd

35.

e 2
(a) Fg3Td gered
(b) THEE Metees
(0 & fweisr

(1) =W A% fHR e

(2) WEFER AT AR

(3) <

Hehdich :

(A) (1) anfor (2)

(B) (1) a7fur (3)

(C) (2) amfur (3)

D) (1), (2) 2for (3)

TEAAUh! IV AgaRaaaR! fHgar
IS SR ?

(A) 7Y 9
(B) & HfioT
(C) o =

(D) UsA fysiter

24
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36 The Speed and intenSification Of 36 32"{313;’ {l\ﬂch’\'q, ‘H“‘“r\ﬂeh, a‘ ‘Hi{‘ﬂ')i}lch
economic, political, social and T T o b N
cultural relations across )
international borders is known as
................. (A) FSEIR &wa
A) Political
(A) Political economy (B) sl f
(B) Economic development

(C) SITfehiehTT]
(C) Globalization
(D) World economy D) =

37. The farmers organisation, Bharatiya | 37 WA feham gfE @ Al gee
Kissan Union was established by | ..., T T el
............................. ) T
(A) Sharad Joshi

(B) Wz w1 feshd
(B) Mahendra Singh Tikait
(C) Nandunjappa ©)
(D) Raju Shetti (D) TS| QL]

38. When was fundamental duties were | 38 YRdg Tsg=sed qAYd ATl TSl
incorporated in the Indian o FIE A 7
Constitution ?

(A) 1948
(A) 1948
(C) 1976 (C) 1976
(D) 1971 (D) 1971
25 [P.T.O.



39.

40.

On whose recommendations was the

Constituent Assembly formed ?

(A) Cabinet Mission Plan

(B) Mountbatten Plan

(C) Govt. of India Act, 1935

(D) Cripps Mission Plan

Which one of the following pairs is

not correctly matched ?

(A) Huntington : Differentiation

(B) Gabriel Structural
Almond Differentiation

(C) Huntington : Participation

(D) Gabriel : Centralization
Almond

39.

40.

JAN - 15318/IIT—A
T uftve=n fAfHdr swomen e

el et ?

(A) FEHe TRE A

(B) HI8esed ISl
(C) 193591 YA HihR hIIS]
(D) forw favm IS

TeATeTdeh! IOl SEl A S[@Bal

T 2

(A) B —  fafa=feo

(B) Tifoa se — &AM
ferfa=irerto

(C) e - e

(D) o e — e

26



41. Which one of the following pairs is

correctly matched ?

(A) Civic

(B) Civic

(C) Civic

(D) Civic

culture

culture:

culture:

culture:

Parochial and

political culture

Subject and

super partici-

pant culture

Participation

and political

culture

Parochial, Sub-

ject and partici-

pant culture

JAN - 15318/III—A

fa ~ fa

Aqe ?

41. TRl IO et aaR (e

(A) TR G&hdl

. Araifea  aArfor

qSTeh 1 &l

(B) AR G&Hdl

(C) AFRY T&hdt

: HEH

. Gepiad ST 3=4

TEAMT AT

strfor

ST Td FEhdl

o

(D) A H&hdl

: STAITRd, Hep

ST T He&H

HEpelt

27
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42. Which one of the following pairs is

43.

not correctly matched ?

(A) Vilfredo — The Mind and

Pareto Society

(B) Gaetano — The Ruling
Mosca Class

(C) C. Wright — The Power Elite

Mills
(D) Karl Mann- — Elite and Non-
Elite

heim

Which one of the following pairs is

correctly matched ?

(A) Steven @ — Power : Radical
Lukes View

(B) Michel = — Political System
Foucault

(C) Gramsci — A Theory of

Justice

(D) Hannah — Political

Arendt Liberalism

JAN - 15318/III—A

42. TCATTR! IV STl Aryehi Jesaet

43.

T ?

A) faehe  — T #Ee o=
T E3IESIRCl

(B) T WERI— T FE w™

(C) ®. W — T IR 3o
fiew

(D) =T —  3fere o= |-
Hfen gfere

Tt IVl STel aa S[ea
qE 2

A) €eed  — T e
I gt
B) iR -  difcfesa faem
HIhIee
(C) w=t — A Al AE
SRS

28



44. Which of the following statements

are correct ?

(a) Between 1950 and 1967, there
was congress dominant at the

centre level.

(b) After the fourth general election
of 1967, in six states coalition

government was formed.

(0 Between 1950 and 1967, there
was not congress dominant at

the state level.

Select the correct option from the

following codes :

(A) (a) and (o

(B) (b) and (¢

(C) (a) and (b)

(D) (a), (b) and (o)

JAN - 15318/III—A

44, A fedadd o faum s@&aT

ed ?

() 1950 d 1967 HEA <hg Uldesioldl

FHITTA FYA B

(b) 1967 =1 AL WEfAH FESIH MR

T TSAHES SIS TLhR ST

e Il
(o0 1950 @ 1967=aT TIHATH
TITAGBERA! hidee U 7.

arell feeen Fehdie T area T

IEEEINE

(A) (a) M (o)
(B) (b) M (o)
(C) (a) o (b)

(D) (a), (b) 3 (o)

29
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45. Which of the following statements | 45. w@refi fedst &ivdt faem™ aSaQaw

are correct ? aRd ?

(a) The political awareness is () TfaAMed TSR ST 318 ?

present among the Dalits.

(b) YRAHE Yo¥T B 9T ST TSTehid

(b) There are region based political R

parties in India

(0 WIS -AITHTds & Fqaa

(00 There are political parties that
[STehd T8l 3Ted.

are not formed on socio-cultural

Trell fooiedn Sehdie gl g 94

basis.
IREEIEE

Select the correct option from the

- -
-
-

following codes :

(A) (2) and (o (A) (a) 3T (o)

(B) (b) and (o (B) (b) M0 (o)

(C) (a), (b) and (0 (C) (a), (b) 3 (o)

(D) (a) and (b) (D) (a) 0 (b)
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46.

47.

In which state of India the first

communist government was

formed ?

(A) Kerala

(B) Orissa

(C) West Bengal
(D) Tamil Nadu

Which of the following statements

are correct ?

(a) Gender is different from sex
(b) Gender is not social construction
Gender is division of labour

)

Select the correct option from the

following codes :
Codes :

(A) (a), (b) and (o)
(B) (a) and (b)
(C) (b) and (o

(D) (&) and (¢

46.

47.

JAN - 15318/III—A

RATAT 10T TEhISATHES JoH

FRIFE TR T e eI 2
(A) e

(B) e

(C) df¥=m =

(D) dIHeTS,
Tt feded o faem ausER
aRd ?

(a) fama &1 Si-gew demer, Se
e,

(p) famaa g gmfser EXfea et
(o Tamume woe wme faasa 8.

Trell ool Sehdiemyd Ing qd
IREEIE

i
(A) (a), (b) 3T (o)

(B) (a) {0 (b)
(C) (b) 3 (o)
(D) (a) = (o)
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48. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(D)
(©
(d

(D

(2)

3)
(4)

List I
Morris-Jones
Srinivas M.N.
Rajni Kothari
Weiner Myron (ed.)

List II

The Dominant Caste and Other

Essays

Government and Politics in

India
State Politics in India

Politics in India

Codes :

A) (2
B) 3
C) @)

D) D)

(a b (o

1) @ 3

2 O @

Q) @ @

2 G @

JAN - 15318/III—A

48. WA Hehdleh=l a9 e Il [ 9
It 11 At a9 Sirean o ¢

(a)

(D)

()

(d)

(D

(2)

3)

4)

RIC
HRE-S4
Siferg ..
ESEINCACIE)
T "RRA (F)

et 11
T S &Re i< 3TeY ToS
TR 3fs uffafesw =9 sfean
we ufafesa 57 e
uifefer &1 gfean

-
.
-

A) (2

B) )

C) @)

D) D)

(a b (o

1) @ 3

2 1 @

Q) @ @

2 G @
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49.

50.

Which one of the following pairs is
correctly matched ? (After 1990)

(A) Tow party — Gujarat
system

(B) One party — Maharashtra
system

(C) One party — Kerala
dominance

(D) One party — Rajasthan
system

Which of the following is/are forms
or system with which the unitary
system is compatible ?

1. Presidential form of
government.
2. Parliamentary form  of

government
3. System of judicial review

Choose the correct answer from the
codes given below :

Codes :

(A) 1 and 2
(B) 1 and 3
(C) 1, 2 and 3
(D) only 3

49.

50.

JAN - 15318/III—A

TTCAeTdeh! IV SISl sRIeR Je3el
e ? (1990 FR)
(A) fguer ggdt — 7o
(B) UHUEl Ugdl — HERTE
(C) IYERIedt  — hies
ThTE Tl
(D) Tehud — ST
Tt
TICHTUehl ShIvId FehR fehall TEET TehteH

UG Tk 3ed 7
1. STeHefg TETuqed
2. GHIM SMEAIGH

3. IR YAfdeliRd ugerdt

Tell feeed Hehdihl AYA Id qa

i
(A) 1 mfor 2
(B) 1 e7for 3

(C) 1, 2 smfor 3
(D) ds 3

33
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51. The cabinet form of government

means :

(A)

(B)

(®)

(D)

A system of govrnment which
is marked by the existence of a
group which collectively decides
on the politics of the
government and which is also
collectively responsible to the

parliament

A form of government in which
the cabinet is supreme and is
not accountable to any other

organ of the state

A form of government in which
all the members of the cabinet
are popularly elected on the
audit

basis of wuniversal

franchise

A form of government in which
it is the President, and not the
Prime Minister, who presides
over the cabinet meetings for
the reason that he is directly
elected by the people

JAN - 15318/III—A

51. ®wfade/AAHEacds®  ITHTUSETT

BN

(A)

(B)

()

(D)

M Tk TMEAIGHT hi TS T

N o N
TR AfEE 3TEd Sl AT

FRuTETed Hfeeh e ot a9

TS T SETEER STl

3Teft Weh TrEugHd! ki TS99 wfere

TS 3 I T YA IR

RIS EIE R

It Tw TTEATRE &1 fSe

e~ NN

h (o2

e g gEfre e

o

REEN

=N

HATIRRIER STHdh S T

=N

TS0 Tk TMETIGET shi 9 oo
Fog T AATL SRS T T
faeA Jard B wiareen seh

SAIUG oA
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52. A rigid constitution is one which : | 52. URgE THTAT BN
(A) cannot be amended (A) STt SEear I Al
(B) can be amended only by a new (B) S ez T2 GRORHGAE Seere
constituent assembly <
(C) can be amended only by two-
(C) 3ufeerd UEA HAGIT HIUITH]T
thirds majority of the members
ST T qArAe SgHaqe
present and voting
e Ad
(D) can be amended by any
procedure other than ordinary (D) Sft T Hel seie=l SH
law making process prescribed SIS HT = IfhAfRem™ 3t
by the constitution FHIATE TG seeral I
53. Who said that “Authority is | 53. SRR & TET &l 3™ Wit
federal” ? S foaRea e g ?
(A) Barker (A) M
(B) Duguit (B) g2
(C) Krabbe (C) w&
(D) Laski (D) &Rt
35 [P.T.O.



54. Who among the following said that

55.

56.

all the governments ultimately are

oligarchic in nature ?
(A) F.M. Marx

(B) Vilfredo Pareto
(C) Max Weber

(D) Herbert A. Simon

Bureaucracy in the modern state is

the form of :

(A) Traditional authority
(B) Rational legal authority
(C) Charismatic authority
(D) Political authority

Which of the following imposes
limitations on the supremacy of the

Parliament in India ?
(A) Parliamentary system

(B) Federal system and judicial

review
(C) Socialistic pattern

(D) Fundamental rights

JAN - 15318/III—A

54. Hd IMET G AfqHA: TS

55.

56.

A’ 3T WITadah! HIvH T
e ?

(A) TH.TH. T
(B) fawhel A
(C) Heg 9o

(D) B U GHEFHEA

SMYFTeh T AhIME BIEHTIsh]

I R 3TEd ?
(A) TRURE AfEhR

(B) fodent denfrer stferepr
(C) feeaaeaiferd sAfaepr
(D) TSThTA 3AfEhR

AN A = ~ a
wllctlcdben] enlUlcd] elcenlHoo HIATATeA

THe= Haarsacae) el Ad ?
(A) HHHE wgEdt

(B) TORTST SHOEl 30T =ATeri=
RUIENICE]

(C) FHISERT T

(D) FAYd wFh
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57. Which of the following pairs are

correctly matched ?
1. Dependency — Samir Amin
theory

2. Liberal theory — Lucian Pye

of development

3. Theory of — Karl Marx
alienation

4. Theory of — John Rawls
negative

Select the correct answer using the

codes given below :
Codes :

(A) 1, 2, 3 and 4
(B) 1 and 2

(C) 3 and 4

(D) 1, 2 and 3

JAN - 15318/III—A

57. WICIeTdeh! It SEt Araie Sesaet

Aqe ?

1. UEdtsarE — HHR 3T
IRECIE

2. foasmm=n — T T
SERAdeE! fagem

3. UCAHEE — A A
IRECIE

4.  THRHERIE — NI U™
ISECIE

WA HehdiehTal AR HhEd R IW

IREEIEE

Hehdiah :

(A) 1, 2, 3 =7fur 4
(B) 1 sfor 2
(C) 3 afur 4

D) 1, 2 37T 3
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58. Match the following : 58. Wl S :
List I e 1
(a) Sovereign is the main source of (a) TEEH ¥ HECHNE TEA I
law 3Te.
(b) Laws are passed by legislature (b) FEGHS® hHAS HHA hHd.
(0 General will is sovereign (0 WHfedh & TWEHH 3.
(d) Will, and not force, is the basis (d) W5 Fog TR HHA B T THR
of state -
List II It 11
(1) Hobbes (1) =re
(2) Locke (2) s
(3) Rousseau 8) =
(4) T.H. Green 4) dwm 1=
Choose the correct answer from the Tl FehepIg W SR e
codes given below : Hehdich :
(@ (b © (@ (@ B © (@
A @ 2 @ @ A @ @ & @
B @1 @ B @ B @O @ & @

© @ 1 @ @ © @ @O @ @

D @ 1) @ @ D @ D @
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59.

60.

Classical liberalism grew out of the

struggle between :

(A) labour and bourgeoisie

(B)

capitalists and feudalists

()

middle class and the down-

trodden

(D)

aristocracy and commoners

Gandhiji believed in the principle of

non-violence. Satyagraha is :

(A) a weapon to oppose violence by

non-violence

(B) a method of civil disobedience

(C) a method of people’s

participation

(D) a weapon of violence

59.

60.

JAN - 15318/III—A

TICTCTRT hIVTT T FESiqd AT

SCHAAE I 3Tl ?
(A) #ifhes Tfor a
(B) WSaeigR AT TSIHER

(C) H=Y ot 3o YHTSIT=AT JRMesIei
TR

(D) HeSHRIEl ST =S

HEeHT Mef=n AfGH=a doarer favarg

(A) &= AR wfdsr =ivam 9em

(B) HfoTd hERYI=N qgEd

(C) AIhEBHNET Tgerdl

(D) f&d= =em
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61.

62.

According to the Fascists, the truest

form of democracy is government by

the :

(A) Elite

(B) War-mongers

(C) Democrate

(D) Anarchists

Violation of the ‘Rule of Law’ arises

mostly from :

(A) Limited franchise

(B) Delegated legislation

(C) Lack of checks and balances

(D) Unrestrained freedom

61.

62.

JAN - 15318/III—A

Tiem o1 TIaREiIaR dlshemeen @

NEEILERIE]

(B) JgHENE

(C) hITEl THefeh™

(D) AT

‘FrEeEE T AT 9T 8 YHEH

TIeAdeR! SV & Bl 2

(A) THIfCa HATeehR

(B) wea faum™

(C) THEsror anfor Hadiem=n A4

(D) Ay @a=
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63.

64.

Which of the following is correctly

matched ?
Theories of Statements

Nature Regarding Nature

of State of State

(A) Idealist State will wither away

(B) Mechanistic State is an association of

associations

(C) Legal State has a fictitious

personality

(D) Organic State is the objectification

of spirit

Who of the following wrote ‘The

Subjection of Women’ ?
(A) Jeremy Bentham
(B) Karl Marx

(C) James Mill

(D) John Stuart Mill

63.

64.

JAN - 15318/III—A

WAyl qTT SISl HIMET AT
A ?

= OSsreAn

s
fagia

(A) oedadt ST AIfEY ded

faam=

(B) =t TS § HEA HE

3T
(C) Fefrh TSI S SRS

T

(D) = I T e
e
GATeueh! ST foraRaar g HesiRT
sitw g’ & 7y fafeen ?

(A) SIHT sFeH

(B) <rei HeR

(C) v fhat

(D) i e foa

41
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65. Mahatma Gandhi launched the | 65. 1919 H&J HgH M TR TBdes

Satyagraha movement in 1919.

& hell. WIelaish! &= S RO
Which of the following was the
A B ?

correct reason ?

(a) JugH=a do3d ToreTeT wmremren

(a) It was a protest against the

o N

British government for its gurongsel feeremn steemeHrh

failure to introduce promised ch_c" S e e
reforms at the end of the war.

ol
(b) It was a protest against the

(b) STHaX Aeffa Sfeararear am

massacre at Jallianwala Bagh,

Amritsar. goaTehTer= TRy,

I inst th
(0 1t was a protest against the (0 e sffrmen faiem.
Rowlatt Act.

. (d) S e faem.
(d) It was a protest against

communal awards. Hehdidh

Codes : A) (2 3 (O

(A) (a) and (o

(B) &da (o)
(B) Only (o
(C) (¢) and (d) (C) (o) 3T (d)
(D) Only (b) (D) g (b)
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66.

67.

68.

Who represented the Congress in the
Second Round Table Conference at

London (1931) ?

(A) Mahatma Gandhi
(B) Jawahar Lal Nehru
(C) Srinivas Shastri
(D) B.R. Ambedkar

The Lahore Session of the Congress
which adopted a resolution of
complete independence for India was

presided over by :

(A) Subhash Chandra Bose
(B) Mahatma Gandhi

(C) Motilal Nehru

(D) Jawaharlal Nehru

The basic principle of liberalism
18 :

(A) Individual freedom

(B) Social justice

(C) Equality

(D) Nationalism

66.

67.

68.

JAN - 15318/III—A

Te Aefiel gE=A et afeRd (1931)
WTATTdsh! SIv wigEa gfafafec
FaA 2

(A) TEeH et

(B) SR e®
(C) #ifqarg Ime
(D) ot. 3. AESHT

HIOATA ARR AfeEyEE S |l

ST 3G AR havaTd el ]

fal

AT WTATTdeh! kI

Sl ?
(A) GuoEs S
(B) W@ et

(C) A 8%

(D) STOTEEd 8%

IERAGARTE HEA dx & R ?

(A) AT WA
(B) wmHIfSe =
(C) gH

(D) Tegans

43

[P.T.O.



69.

70.

Marxism is considered as a Utopia

but sabine finds this utopia ............ .

(A) Generous and a humane one

(B) Anti-capitalist and prodemocracy

(C) Restrictive and class oriented

(D) Anti-imperialist and pro-

authoritarian

Which of the following pairs is

correctly matched ?

(A) Rousseau — Civil society
(B) Locke — Original position
(C) Plato

— Veil of ignorance

(D) Machiavelli — Hegemony

69.

70.
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AR WeRel A 9. 9

¢ ~ - ~
TaTe 1 foaraarea 7d 8 WHeSiodaR

ETeAedeh! v Afvmear=n e ?

(A) siieryel sfor AT

(B) wigeremmal forieh anifor efememere
IR

(C) wfiagresss anfor =Tifige

(D) TrHrgare faliet anfor sTferremey

TR

@l feeredn Siedidial shIvdt A Siel

Jeocil 3R ?

(A) & — AT wES
(B) @k — oo feerdt

(C) =i — A ES]
(D) Hfepsfregell — =i
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71. Select the correct answer by using

the codes given below :

Assertion (A) : Hobbes said

“Man is solitary
poor, nasty,
brutish and

short”.

Reason (R) : There can be no

morality, justice,
industry and

civilisation.

Codes :

(A)

(B)

(®)

(D)

(A) is correct but (R) is incorrect

Both (A) and (R) are correct and

(R) is reason of (A)

(A) is incorrect but (R) is correct

Both (A) and (R) are correct but
(R) is not the correct reason of

(A)
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71. Teid Fhagardl ST HEd d7d IW

aer

faam (A) : gfss=an wd, ATH @

TehTeh!, TR, 31TTes, Y
SO e STl

e

HRUT (R) : A=Ahe Afdehar, =99,

SeHITRiear ahdl
e

Hehdich :

(A) (A) s 3T, TG (R) IF 3T

(B) SI=T (A) 371 (R) sIsR 3TTed 3TIfu1

(R) ® (A) ¥ &RU MR
(C) (A) T& 3%, Tg (R) s 3T

(D) <= (A) 3T (R) SR 3Ted, 0

(R) § (A) = &RU RS
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72.

73.

74.

Who said is the
constraint in the realization of
liberty” ?

“Inequality

(A) Rousseau

(B) Thomas Hobbes
(C) J.S. Mill

(D) T.H. Green

Which among the following is an
Incorrect statement ?

(A) Negative liberty is the absence

of obstacles

(B)

Classical liberal state makes a

claim for private property

()

Modern liberal state advocates

Laissez-faire economy

(D) Maximum government is main

feature of welfare state

Which one of the following pairs is
correctly matched ?

(A) Classical political theory

Value oriented

(B) Empirical political theory

Value oriented

(C) Empirical political theory

Anti-positivism
(D) Classical political theory

Anti-historicism

72.

73.

74.
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“foroTar =1 A WHETe STE e 3T
Y DIV W M ?

(A) &9

(B) ATAE Bles

(C) S.u@. fHa

(D) 2T dH

TreleiR! TErg faum ofeen :

(A) ASYcI=T IYE WIS ThRIcHE

A 3R

(B) ®ITST Hu<i=r <mar rfasrd,

SERHAART TF hid

(C) eefTeh STRAAAET UsF K

SHefeTeI= TN HLd

ST ST T § AT
T g dfvrey o1
Tl HIV SIEt sRiek e3ell
e ?

(A) AT TSR fagia — T
(B) HAqWadRT USHa fagid —

HAIHN

(C) VARt USwa fagia —
yeagefere fadied

(D) ST Usten i g — sfagere
Tordieft

(D)
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75. Which one of the following pairs is

not correctly matched ?

(A) John Rawls theory of justice
— Each person is to have an
equal right to the most
extensive liberty compatible

with similar liberty to others

(B) Feminist Account of Justice —
The greatest benefit of the least

advantaged

(C) John Rawls theory of justice —
Attached to offices and positions

open to all under conditions of

fair equality and opportunity

(D) Amartya Sen Approach —

Justice as a capability based.

JAN - 15318/III—A

fa = fa

75. Weedeh! S STEl sk oo

& ?

(A) S Tog=n =g faga — 99

eIl A Bk ST, 99

N

SIS U A ST

(B) SN = = Heheddl — ot

golos STl KT SIT&d W1

THeaan

(C) S Vo= = fagid — 99 e

TS Tl ST aae I 9
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19Tt
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